DWM VA
B AL I 1 T S, B 007 HANSAVFLEX

!ﬁ S'n":' 51 ?2 83
£01 KEITMRL, B = | £
BHERXN1 BHELR

#®O2 KEISIRLL, B AT

FHER 2 2404
gges El IR E R, TR
-2 2F AE0°

R DIN 2353

1SO 8434-1
BRERE  SHEESNUARNEE D
[T THN
®’ER
BETE, BA, EHREAATN TERENEARESHEREEENERES,
#® &
DWMNW 04 HLVA L PN 160 6 M10x 1 14 8 24 12 27 12,5 19 6 6 14
DWMNW 06 HL VA L PN 160 8 M12x1.5 17 12 30 15 29 14,5 22 6 6 17
DWMNW 08 HL VA L PN 100 10 M14x15 19 12 30 16 30 15,5 22 8 8 19
DWMNW10HL VA L PN 100 12 M16x1.5 21 12 37 18 33 18,0 27 10 10 22
DWMNW13HLVA L PN 100 15 M18x15 23 12 40 20 36 20,0 30 12 12 27
DWMNW 16 HL VA L PN 100 18 M22x15 27 14 46 23 38 21,5 36 14 14 32
DWMNW 20 HL VA L PN 100 22 M26x1.5 31 16 51 25 42 26,0 41 17 17 36
DWMNW25HL VA L PN 100 28 M33x2 39 18 64 32 48 31,5 50 22 22 41
DWMNW32HLVA L PN 63 35 M42x 2 49 20 76 37 57 35,5 60 27 27 50
DWMNW40HL VA L PN 63 42 M48 x 2 55 22 85 42 63 40,0 70 32 32 60
DWMNWO3HSVA S PN 160 6 M12x1.5 17 12 30 15 31 16,5 22 6 6 17
DWMNWO04HSVA S PN 160 8 M14x15 19 12 30 16 31 16,5 22 8 8 19
DWMNWO6HSVA S PN 100 10 M16x1.5 21 12 37 18 35 18,5 27 10 10 22
DWMNWO8B8HSVA S PN 100 12 M18x1.5 23 12 41 20 37 20,5 30 12 12 24
DWMNW10HS VA S PN 100 14 M20x15 25 14 42 21 41 23,0 32 12 12 27
DWMNW 13HSVA S PN 100 16 M22x15 27 14 46 23 41 22,5 36 14 14 30
DWMNW 16 HSVA S PN 100 20 M 27 x 2 32 16 58 28 49 27,5 46 17 17 36
PN=#EESN PB=JAIEN - EHWRILL=FER =B S=E - gd2=BHER
FRAEE
DWM E IR 1 T, A E90°,

XDWM VA [E#FNIERIERE LTTR,AEN°, TEN

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
16.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



